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25. Division
Mental Computation
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Mental Problems
1. How many bags of 8 apples can be filled from a box

Hl!’ that contains 72 apples? ___

2. It akes 7 oranges to make a carton of orange juice.
How many cartons can be made from 42 oranges?

81 marbles were shared equally among 9 children.
How many did each get?

4. How many boxes, each containing 6 cggs. can be filled from o container
that holds 50 eqgs and how many eggs are leit?

5. Daddy had 60 flowers. When he put 8 flowers in each vase,
e hod 4 flowers lft. How many vases did he have? ___

6. There are 34 girls and 30 boys in a club.
Into how many groups of 8 can they be divided?

How many teams of @ can be made from 78 children and
how many children are leit?

8. > How many bags, each containing 7 balloons, can be made
Q.. from 43 red balloons and 41 green balloons?

9. Ateacher had 85 copubooks. She made them into bundies of 4.
How many bundles did she make and how many copubooks were left?

10, Ken had 30 red apples and 36 green apples. He put them into bags of 4 apples.
How many bags did he fill and how many apples were Left
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. Afarmer had 95 sheep. She divided ther

ten Problems

How many bags of 6 oranges can be made from o box
that holds 96 oranges? __

10 5 groups.
How many were in each group?

There were 58 green apples and 33 red apples in a box
How many bogs of 7 apples could be filled from the box?

There were 100 oranges in o box. 4 of them were bad. The good oranges
were packed into bogs of 8. How many bags were packed?

There were 39 boys and 45 girls i a club.
They were made into 6 groups.
How many were in each group?

89 stamps were shared equally among 7 children.
How many did each get and how many stamps were left? __

In a flower shop, there were 58 red roses and 37 ellow roses.
The manager kept 7 roses for himsel and made the rest into bunches
of 8 roses. How many bunches did he make?

Pat had 127 marbles. He kept 32 for himself and shared the rest equally
‘among his 5 friends. How many marbles did each friend get?

./ Aball and 6 hurleys cost €95
i the ball cost €5, what was the costof a hurley?
A minibus can corry 4 people.
How many minibuses ore needed to take 88 people.
o football match? __

Afarmer had 143 sheep. He sold 75 of them and divided the rest
into 4 groups. How many were in cach group? __

There were 6 children at a party. When Mammy divided the sweets
‘among them, they each ot 16 sweels and there were 4 sweets et
How many sweets hod Mammy af frst?
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